StuDocu.com

The Product Rule - maths

StuDocu is not sponsored or endorsed by any college or university
Downloaded by Jack May (toystorymakerstaker@gmail.com)


https://www.studocu.com/en-au?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=the-product-rule-maths
https://www.studocu.com/en-au/document/curtin-university/accelerated-mathematics/the-product-rule-maths/13386070?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=the-product-rule-maths
https://www.studocu.com/en-au/course/curtin-university/accelerated-mathematics/3566652?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=the-product-rule-maths
https://www.studocu.com/en-au?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=the-product-rule-maths
https://www.studocu.com/en-au/document/curtin-university/accelerated-mathematics/the-product-rule-maths/13386070?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=the-product-rule-maths
https://www.studocu.com/en-au/course/curtin-university/accelerated-mathematics/3566652?utm_campaign=shared-document&utm_source=studocu-document&utm_medium=social_sharing&utm_content=the-product-rule-maths

‘nelsonnet 1013

WORKSHEET

The product rule

1 Differentiate the following using the product 2 Given f(x) = (x’ — 2x)(3x — 5), find:
rule. Expand and simplify your answer. a f2)
a 3x(x+4)
b f(—1)
b x(2x—1)
c f'(0)
c 7x(2x’—7)
d f'(3)

d 10x(x’ + 5x%)

e f'(2)
e 3x°(5x" + 9x)
tf(-2)
f 5x°(x —6x"+ 1)
g 2x'(7x'+ 55’ — 12)
h (x*+ 5x+ 6)(4x — 1)
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3 Differentiate the following (do not expand

answers).

a (3x"+ 7x)(5x" + 8) h (4x° — 17x + 3)(7 — 6x)

b (7x° — 3)(4x’ — 9x") i (5+2x)3x —4x + 7)

¢ (2x + 6x)(3x" — 4x + 5x) i (6x' — 4x” + 3x)(8x + 2x))

d (95 —7x + 11)(3x" + 5x) k (2¢° +7x — 5)(3x° — 4x + 1)
e (x'+2x—5)2x + 3%+ 7) I (9%° — 3x" + 4)(5x* + 2x° — 7)
f (7x'—2)(dx’+ 58 —7x + 1) m (4x° + 2x° — 5x + 8)(7x" — 11)

(8x* + 9x)(3 + 5x° — 2x)

«Q
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Answers

1 a
b

C

6x + 12
6x" — 2x

42x° — 49

40x° + 150x°

90x° + 81x°

25x" — 120x° + 10x
112x" + 70x° — 96x°
12x° + 38x + 19
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(6x + 7)(5x° + 8) + 15x°(3x" + 7x)
56x (4x° — 9x°) + (7x° — 3)(8x — 45x")

(2 + 42x°)(3x° — 4x + 5x") + (2x + 6x)
(9x" — 4 + 35x%)

(18x — 21x°)(3x + 5x%) + (9x° — 7x° + 11)
(9x” + 10x)

GBx* +4x)2x +3x° +7) + (x + 2x" — 5)
(2 + 6x)

28x°(4x° + 5x° — 7x + 1) + (7x" — 2)
(12x" + 10x — 7)

(16x + 9)(3 + 5x° — 2x) + (8x" + 9x)
(15x° — 2)

(12x" — 17)(7 — 6x°) — 30x*(4x’ — 17x + 3)
18x°(3x" — 4x + 7) + (5 + 2x)(15x* — 4)
(24x° — 8x + 3)(8x + 2x°) + (6x* — 4x” + 3x)
(8 + 10x")

(4x + 7)(Bx" —4x + 1) + 2x° + 7x — 5)

(6x — 4)

(45x" — 6x)(5x" + 2x° — 7) + (9x° — 3x" + 4)
(20x" + 6x%)

(12x° + 4x — 5)(7x" — 11) +

28x°(4x” + 2x* — 5x + 8)
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